
Algebra	
  1	
   Mathematician:	
  ________________________________	
  
Unit	
  1	
  Algebraic	
  Foundations	
   Period:___________	
  
1.3A	
  Apply	
  Exponent	
  Properties	
  (Products)	
  
	
  

LEVEL: EMERGING 
1)	
  Identify	
  the	
  power	
  and	
  the	
  base:	
  	
  
	
  

2!	
  
	
  
	
  
Power:	
  __________	
  	
  	
  Base:	
  ____________	
  

2)	
  Expand	
  the	
  following	
  term:	
  	
  
	
  
	
  	
  	
  	
  	
  	
  	
  5! =	
  

3)	
  Circle	
  the	
  base	
  of	
  the	
  following	
  
term:	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  10!	
  

	
  
Directions:	
  Simplify	
  the	
  following	
  expressions.	
  
	
  
4)	
  	
  	
  2! ∙ 2!	
   5)	
  	
  	
  	
  𝑔! ∙ 𝑔	
   6)	
  	
  	
  𝑥! ∙ 𝑥! ∙ 𝑥	
   7)	
  	
  	
  1! ∙ 1! ∙ 1!	
  

	
  
	
  
	
  
	
  

8)	
  	
  	
  	
  	
  (4!)!	
   9)	
  	
  	
  	
  ((−3)!)!	
   10)	
  	
  	
  	
  𝑛!" ∙ 𝑛!	
   11)	
  	
  (ℎ!)!"	
  
	
  
	
  
	
  
	
  

 
LEVEL: PROFICIENT 

Directions:	
  Simplify	
  the	
  following	
  expressions.	
  
	
  	
  
12)	
  	
  	
  3𝑚 ∙ 4𝑚!	
   13)	
  	
  	
  (3 ∙ 19)!	
   14)	
  	
  	
  	
  (2𝑎)!	
   15)	
  	
  	
  	
  (−2𝑎!)!	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  

16)	
  	
  	
  	
  	
  (3𝑎!𝑏)!	
   17)	
  	
  	
  	
  	
  (10 ∙ 20)!	
   18)	
  	
  	
  	
  (3𝑎!)!	
   19)	
  	
  	
  	
  3(2𝑥𝑦!)!	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

Directions:	
  Find	
  the	
  missing	
  exponent.	
  
	
  
20)	
  	
  	
  	
  𝑥! ∙ 𝑥? = 𝑥!"	
   21)  (𝑥!)? = 𝑥!"	
   22)  (3𝑧?)! = 3!𝑧!"	
  

	
  
	
  
	
  



LEVEL: MASTERY 
Directions:	
  Simplify	
  the	
  following	
  expressions.	
  	
  
	
  
23)	
  	
  	
  	
  (3𝑧)!(3𝑧!)!	
  
	
  
	
  
	
  
	
  

24)	
  	
  	
  	
  2𝑚! ∙ 3𝑚! ∙ 6𝑚	
   25)	
  	
  	
  	
  3𝑏! ∙ (2𝑥!𝑦)!	
   26)	
  	
  	
  	
  (3𝑚!)! ∙𝑚!	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
Directions:	
  Let	
  a,	
  b,	
  and	
  c	
  represent	
  real	
  numbers.	
  What	
  values	
  of	
  a,	
  b,	
  and	
  c	
  would	
  make	
  this	
  statement	
  true?	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Then	
  find	
  the	
  sum	
  of	
  a,	
  b,	
  and	
  c.	
  
	
  
27)	
  	
  (3!𝑥!𝑦!)! = 3!𝑥!"𝑦!"	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
a:	
  	
  _________________	
  
	
  
b:	
  	
  _________________	
  
	
  
c:	
  	
  _________________	
  
	
  
sum:	
  	
  _________________	
  
	
  
	
  

28)	
  (𝑥!𝑦!𝑧!)! = 𝑥!𝑦!"𝑧!	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
a:	
  	
  _________________	
  
	
  
b:	
  	
  _________________	
  
	
  
c:	
  	
  _________________	
  
	
  
sum:	
  	
  _________________	
  

29)   2!𝑠!𝑡! 2!𝑠!𝑡! = 2!𝑠!𝑡!	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
a:	
  	
  _________________	
  
	
  
b:	
  	
  _________________	
  
	
  
c:	
  	
  _________________	
  
	
  
sum:	
  	
  _________________	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



	
  
Worksheet	
  1.3A	
  Answers	
  
	
  
1)	
  	
  Power:	
  	
  6,	
  Base:	
  	
  2	
  	
  	
  	
  	
  	
  	
  	
  	
  

2)	
  	
  5 ∙ 5 ∙ 5 ∙ 5 ∙ 5 ∙ 5 ∙ 5	
  	
  	
  	
  	
  	
  	
  	
  	
  

3)	
  	
  Circle	
  the	
  10	
  	
  	
  	
  	
  	
  	
  	
  	
  

4)	
  	
  2!	
  	
  	
  	
  	
  	
  	
  	
  

5)	
  	
  	
  𝑔!	
  	
  	
  	
  	
  	
  	
  	
  

	
  6)	
  	
  𝑥!	
  	
  	
  	
  	
  	
  	
  	
  	
  

7)	
  	
  1!"	
  	
  	
  	
  	
  	
  	
  	
  	
  

8)	
  	
  4!	
  	
  	
  	
  	
  	
  	
  	
  	
  

9)	
  	
  (−3)!	
  	
  	
  	
  	
  	
  	
  	
  	
  

10)	
  	
  𝑛!"	
  	
  	
  	
  	
  	
  	
  	
  	
  

11)	
  	
  ℎ!"	
  

12)	
  	
  12𝑚!	
  	
  	
  	
  	
  	
  	
  	
  	
  

13)	
  	
  3! ∙ 19!	
  	
  	
  	
  	
  	
  	
  	
  	
  

14)	
  	
  2!𝑎!	
  	
  	
  	
  	
  	
  	
  	
  	
  

15)	
  	
  (−2)!𝑎!"	
  	
  	
  	
  	
  	
  	
  	
  	
  

16)	
  	
  3!𝑎!𝑏!	
  	
  	
  	
  	
  	
  	
  	
  	
  

17)	
  	
  10! ∙ 20!	
  	
  	
  	
  	
  	
  	
  	
  	
  

18)	
  	
  3!𝑎!	
  	
  	
  	
  	
  	
  	
  	
  	
  

19)	
  	
  2! ∙ 3𝑥!𝑦!"	
  	
  	
  	
  	
  	
  	
  	
  	
  

20)	
  	
  6	
  	
  	
  	
  	
  	
  	
  

	
  21)	
  	
  3	
  	
  	
  	
  	
  	
  	
  	
  	
  

22)	
  	
  9	
  	
  	
  

23)	
  	
  3!𝑧!"	
  	
  	
  	
  	
  	
  	
  	
  	
  

24)	
  	
  36𝑚!	
  	
  	
  	
  	
  	
  	
  	
  	
  

25)	
  	
  2! ∙ 3𝑏!𝑥!"𝑦!	
  	
  	
  	
  	
  	
  	
  	
  	
  

26)	
  	
  3!𝑚!"	
  	
  	
  	
  	
  	
  	
  	
  	
  

27)	
  a=	
  2,	
  b	
  =	
  5,	
  c	
  =	
  10	
  	
  	
  	
  	
  →     𝑠𝑢𝑚 = 17	
   	
  

28)	
  	
  a	
  =	
  3,	
  b	
  =	
  4,	
  c	
  =1	
  	
  	
  	
  	
  	
  	
  →     𝑠𝑢𝑚 = 8	
  	
  	
  

29)	
  	
  a	
  =	
  1,	
  b	
  =	
  3,	
  c	
  =	
  1	
  	
  	
  	
  	
  →     𝑠𝑢𝑚 = 5	
  

	
  

	
  

	
  


